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Transform the equation if necessary, and then solve it to find the value of x that makes the equation true.

1 x—(9x—10)+11=12x+3(-2x+3)

x@}n) +11=12x {3 _2x+§)

x—9x+10+11=12x—6x+ 1
—8x+21=06x+1
—8x+8x+21=06x+8x+1

21=14x+1
Z2Z1-1=14x+1-1

20 =14x

20 14

—_ —x

14 14

10

—_— =X

7
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2.

7x+8(x+

4

1)=3(6x—9)—8

1
'?x—i—B(x—I—Z) =3(6x—9)—8

Tx+8x+2=18x—-27 -8
15x+2 = 18x — 35

15x —15x+ 2 = 18x — 15x — 35
2=3x-35
2+35=3x—-35+35
37 =3x
37 3
—_——r
3 3

37

3 X
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3. —4x£+\1) @0)

—4x —2(8x+ 1)

C1ox -2
—20x — 2

-+ 20
—20% .20x — 2
-2
—2-19
_12
12
22
6

= —(—2x—10)
=2x+10
=-|?"1é,+ 10

+ 10
=22x+ 10
=22x+10_10
= 22x

22

= —x
22

Lx
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4. 11(x+10) = 132

[1 x +(lO (3% 11(x + 10) = 132
—\(0 o (55) 116+ 10) = () 132

’“X §1L x+10 =12

(\ \( x+10—10 = 12 — 10

K=7

x=2
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1 1
5. 37x+5—(x+3)=94x—7)+5

YT.‘H’S equation has no solution. ’

1 1
37I+E—(I+Z) =9(4x—-7)+5

1 1
37 ——x——=36x—-63+5
x-l—z x 1 x +

1
36x—|—1=36x—58
1
36x—36x+z=36x—36x—53
_’\ - Sg

January 29, 2016



Module 4 Lesson 7 Notes.notebook January 29, 2016

6. @x—14)+x=15@9x—5)
3(2x—14)+x=15—(—9x-5)
6x—42+x=15+9x+5
7x—42 =20+ 9x
Tx —7Tx —42=20+9x — 7x

—42 =20+ 2x
—42 —-20=20-20+ 2x
—62 = 2x

—31=x
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7. 8(2x+9) =256

—72 - 7%
T jbx=-(6
f\(a S

“« - -

\

8(2x + 9) = 56

(%) 8(2x +9) = (%) 56

2x+9=7
2x+9—-9=7-9
2x=-—-2

Bee- () -

x=-1
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Lesson 7: Classification of Solutions

Classwork

Exercises

Solve each of the following equations for x.
1. 7x—3F54+5
“Sx | 7px
LX-S
3 '+y

LS
l _—<

)
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2. 7x—347x+5

x4
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C AT E T2 IX=-D= 7+ -3
mPY— IX-2=7%-23

January 29, 2016
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Give a brief explanation as to what kind of solution(s) you expect the following linear equations to have. Transform the
equations into a simpler form if necessary.

¢« @HEy 5D
Ax 5= 15+q %
AxH5= A5
ANS: Inanlal W\o\vué Sol.,dioni

11
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5. —MM)+1=—4x+5

LxEH | -Uxas
Dx-4l = xS

Exrcny 4. SowkTION

January 29, 2016
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6. @r 3@ @?10)

—IOX +*2 5 =—(ox—-20
No SoredioNS

January 29, 2016
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7. %(83{—26) =13 + 4x

January 29, 2016
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8. Write two equations that have no solutions.

13 w+L =13 ¢ +1,600060
T+l =T X— LR

15
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9. Write two equations that have one unigue solution each.

1><+2= L

January 29, 2016

X+ (72

x4+ 9= SX+3)_
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10. Write two equations that have infinitely many solutions.

TIxXA (=T )41
QOXAR = "K‘SXJV?;

January 29, 2016
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